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*     Runge-Kutta for solving Rayleigh problem 

* 

      IMPLICIT DOUBLE PRECISION (A-H,O-Z) 

*     Xlast=sekibun no owari (until 4.0) 

      XLAST=4.0 

*     Sekibun no kizami-haba 

      H=0.001 

*     Initial values 

      X=0.0 

      U=1.0 

*     The below value should be determined by a Shooting Method. 

      V=-1.128379 

      OPEN(10,FILE='RK2-Ra-a.plt') 

      II=0 

  100 CONTINUE 

      II=II+1 

      WRITE(6,997) X,U,V 

      IF(MOD(II,10).EQ.1) THEN       

      WRITE(10,997) U, X, V 

      ENDIF 

* 

      DV1=-H*2.0*X*V 

      DU1= H*V 

* 

      DV2=-H*2.0*(X+H)*(V+DV1) 

      DU2= H*(V+DV1) 

* 

      V=V+(DV1+DV2)/2.0 

      U=U+(DU1+DU2)/2.0 

      X=X+H 

      IF(X.LE.XLAST) GO TO 100 

      CLOSE(10) 

  200 STOP 

* 

  997 FORMAT(F9.6,10F14.6) 

  999 FORMAT(2F10.0) 

      END 

 


